INDICES
Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier
1.

37 x 372
33

1 Work out the value of

(Total for Question 1 is 2 marks)

Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier

2.

1 (a) Simphfy m?xm?

(b) Simplify (5np®)*

L |
2gr

(c) Simplify =
dg’r

(Total for Question 1 is 5 marks)



Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier

3.

h pr=pt=p?

{a) Find the value of x.

(b} Find the value of 1.

100 % 1000" can be written in the form 10™

{c) Show that w=2a+ 3b

(Total for Question 6 is 4 marks)

Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier

4,



™

1
18 163 = 2" =%

Work out the exact value of x.

{Total for Question 18 is 3 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier

5.

15 (a} Find the value of 48 = 10

L

1]
(b} Find the value of 1447 = 64 2

1
() Solve 3% = —
&1

(Total for Question 15 is & marks)



Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier

6.

1
10 (&) Write dovwm the value of &2

125

(b} Find the valus of [%] ’

{Total for Question 10 is 3 marks)

Pearson Edexcel - Thursday 26 May 2016 - Paper 1 (Non-Calculator) Higher Tier

7.



4 (2) Simplify p'=p*

(b} Simplify g+ g

{c) Simplify (k')

{d) Expand and simplify 3(m +4) - 2(d4m + 1)

{e) Factomze n°—Tn

{Total for Question 4 is § marks)

Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier

8.



22 (3) Find the value of 27

5.5 canbe written in the form 5

(2} Find the value of &

. o [
(c) Work out the value of {-.'lf - '3}

(Total for Question 22 is 4 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
9.



Y f=3g+Th
(a) Work out the value of fohen g=-5and h=2

(b) Factonze 3x+6

(c) Expand and smoplify  3{y —2) + 2{y—3)

(d) Smophfy m®x m?

[

(e) Simplify

[

"l;‘.:l"t.:

(Total for Question 3 is 7 marks)

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier

10.



10 (&) Siplify (p7)

= =
Wl =

(L) Simplify

'\.IxT:Ei

{c) Work out the value of n.

=128

(d) Work out the value of x.

(Total for Question 10 is 4 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

11.



11 {a) Simplify 7= %

{b) Simplify  (w"r

Fia"

1247 f*

{c) Simplify

(Total for Cuuestion 11 is 4 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier

12.

9 (a) Simplify o' x o

45e° 1

(b Simplifi ]
(bp Simplify S

() Write down the value of o

(Total for Question 9 ks 4 marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

13.



15 (a) Simplify m* + o'

(b} Simplify Sx'" = &y

{Total for Question 15 is 3 marks)

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier

14.

1. {a) Simplify e =

1)
{b) Simplify 4
a
(1)
{e) Simplify (2o
(2)

{ Total 4 marks)

Pearson Edexcel - Monday 6 June 2011 - Paper 3 (Non-Calculator) Higher Tier

15.



12. (a) Simplify
(ip w®xwt

(i} AF+

2)
o 12
(b} Simplify completely ———
Ty
2)
(Total 4 marks)

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier

16.

22 (&) Simplity 4 « pf

m
{t) Simplity o + &
m
{c) Simplify 1208 + &lF
@
1
{d) Simplity (98 y")7
@
{e) For x> 1, wrile the Tollowing expressions in order of size.
Slarl with the expression wilh the least valus.
1
o e X Fe d
@

(Total 8 marks)




Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier

17.
15, (3) Simplify o = m®
8y
() Simplify pep
(1)
() Simplify 4 x Jxp?
............................. 5

(Total 4 marks)

OCR GSCE - Thursday 7 November 2019 — Paper 5 (Non-Calculator) Higher Tier
18.

17 Show that :U? x% can be expressed as a®.

(3]



OCR GSCE — Monday 11 November 2019 - Paper 6 (Calculator) Higher Tier
19.

14  Write H.FS ]Jas a power of 2.

- [3]



OCR GSCE - Tuesday 21 May 2019 - Paper 4 (Calculator) Higher Tier
20.

1 Calculate.

3\/ 210
N 10%+ 5

Give your answer correct to 3 significant figures.

OCR GSCE - Thursday 24 May 2018 - Paper 4 (Calculator) Higher Tier
21.

2  Given that y'® = 8 = y* _find the value of k.

OCR GSCE - Thursday 7 June 2018 — Paper 5 (Non - Calculator) Higher Tier

22.

11
12 Carol that 64 :=—.
aral says tha 32 |

Explain her error and give the correct value of 64 * in the form %

.13

Ml

. [3]



OCR GSCE — Tuesday 12 June 2018 — Paper 6 (Calculator) Higher Tier
23.

4 (a) Show that a® x (a®) can be expressed as a''.

(b) Write ‘1;_5X 25" as a power of 5.

(b)

[2]

3]



AQA GSCE - Tuesday 19 May 2020 — Paper 1 (Non - Calculator) Higher Tier

24.

14 (a) c¢=2"0x3x5F

Work out 18c.

Give your answer as a product of prime factors in index form.
[2 marks]

Answer
32" 11
14 (b)  Workout “2

Give your answer as an integer.

[2 marks]

Answer




AQA GSCE - Tuesday 19 May 2020 — Paper 1 (Non - Calculator) Higher Tier

25.

20 (a)  Write down the value of 77
[1 mark]

Answer

(=]

20 (b) Work outthe value of 32 5
[2 marks]

Answer




AQA GSCE - Tuesday 21 May 2019 - Paper 1 (Non - Calculator) Higher Tier
26.

8 Work out the value of (3% + 3%+ (3°x 3)

[3 marks)
Answer
AQA GSCE - Tuesday 21 May 2019 - Paper 1 (Non - Calculator) Higher Tier
27.
2
23 Simplify &'+ 325
Give your answer in the form 2" where m is an integer.

[3 marks]

Answer




AQA GSCE — Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier
28.

20 Expressions for consecutive triangular numbers are
mim+1) (o + Tin+2)
— and ———M
2 2

Prove that the sum of two consecutive triangular numbers is always a square number.
[4 marks]




AQA GSCE — Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier

29.

9 J6°+ 8% = {1254°

Work out the value of a.

[4 marks)]

Answer




AQA GSCE — Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier

30.
24 Show that ﬁ - £ can be written in the form ﬁ
J5 o 10
where ¢ and d are integers.
[3 marks]
AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier
31.
3
17 w=
Byx
Circle the expression for W
[1 mark]

-
=
=



AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier
32.

2
24 (a)  Work out the value of 24+ [29]

Give your answer as a fraction in its simplest form.

[3 marks]

Answer

3

24 (b) Work out the value of 252

[2 marks]

Answer




AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier
33.

6 Work out the value of [-\E]z X (&]2
[2 marks]

Answer

AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier
34.



21
30 (a) Work out the value of 81 ¢
[2 marks]

Answer

30 (b) Write 16 x 8%  as a power of 2 in terms of x.

[3 marks]

Answer

AQA GSCE — Wednesday 25 May 2017 — Paper 1 (Non - Calculator) Higher Tier
35.



24 (a) Work out ,’12% as an improper fraction.
[1 mark]

24(b) Workout 316 asapowerof2
[2 marks]

Answer




